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In machine learning and data mining, the experimental results are often immediately represented
as matrices of pairwise comparisons between set elements. The condition of the correct immer-
sion of the given set of objects into a metric space is a nonnegative definiteness of the pairwise
similarity matrix. In this case, similarities are interpreted as scalar products and dissimilarities
as distances, respectively. In this paper, the metric violation conditions are under investigation.
The approach to correct metric violations in pairwise comparison matrices is developed based
on an idea to minimize distortions of some elements.
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